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Q4. Encircle the correct option. (10x1=10)

i Which of the following s used to print text on the graph:
a) print text (b) disp (‘text’) (€) grexi(‘text’) (d) ginput(‘text’)

ii. To find out polynomial from the roots:
a)find)  (b) roots) (c) root() (d) poly()
iti. To remove linear trend of a signal we use:
(a) deletetrend (b) removetrend  (c) detrend (d) notrend
iv. Which of the following is not used to print out value of g such that g =125;
a)>>g (b) >>display(g) (¢) >>disp(e) (d) >>g;
v. Ifx=[72298] for [v1,v2] = max(x); the value of (v1,v2) is:
@ 94) ()49 @63 @ G 3
vi. If a & b are vectors, which of the following is used for element by element operations.
a)ya.”b (b)a *b (c)a.Jb (d) all of them
vii.Ifx=[7 0 2 0 8] then for output (49 0 4 0 64 | which one is not tru¢:
(a) x*x (b) x.A2 (c) power(x,2) (d) x.*x
viii1fx=(3 0 0 1 6| then for z = all(x) what is true :
@! ®oEl 0011](d)[01100]
ix The following command cannot change limits of the graph axis:
(a) axes() (b) axis( ) (c) xlim() (d) ylim()
x Which of the following is equal to output of 2= factorial(5):
(b) prod(1:5) (b) sum( 1:5) (¢) 121 (d) all
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rQ.I. Write short answers of the following Questions:

i. | Give simple example to find zero index of values in an array? 2

Write syntax with example for the following in MATLAB:

ii. (a) ginput() (b) dsolve() (¢) gtextO (d) input(), 8

Write MATLAB program code segment for the following:

iii. (a) to generate and plot 20 x 20 matrix of numbers 10
(b) to give one example 10 find out cumulative sum of {2 5 87
(c) 1o find integral of a polynomial: 5x* -2x+20

(d) to calculate the roots of a polynomial

(e) 1o multiply two polynomial and determine derivative

Suppose A be a 3x3 matrix, Writet MATLAB program which reads
Q3. in random numbers as entries of the matrix A and calculate (i) sum 6+4
and average of the all matrix elements, (ii) transpose of the matrix A
(also plot the matrix), (iii) also check whether the Matrix A is an
identity matrix? (iv) Also sort the matrix elements, (v) divide matrix
rows by its row average.

Write MATLAB program for a half wave rectifier circuit.

Q4. Write MATLAB program for the forced harmonic motion (FHM) | 6+4
(a of a mass attached with a spring using Euler’s method under the
following conditions: (g=9.8 m/s®, initial position zero and velocity
15 m/s, time step 0.1 sec. and maximum time 15 sec., k=1 N/m,
m=1kg, damping coefficient = 0.5 N/ms, @ =0.01 s and fo=1.5N.).
Calculate and print with proper labels the values of time against
position, velocity and acceleration. How you can change the same
program for the Simple H.M., Damped. HM. The necessary
(b) equations are as follows:

A=(-kx=bv+fcos(wt) )/m.x=x+vh,v=v+ah,t=*t+h,

Also draw estimate output graphs with proper curve labels, x & ¥
labels and title.

How randomly generated points can be used to show Brownian
motion? Write MATLAB program 10 simulate Brownian motion of
a particle for 31 collisions. Also calculate the distance traced by the
particle. Note: Plot estimate graph if any.

Q5. (a) | Write MATLAB program to calculate and print out factorial of a | 10
number taken from the user by using two methods. Implement your | -
program using functions.
20
Calculate and print the series and sum of S. such that: § = 773K

(b)

"
How you can improve the answer 10 evaluate _[ sin(x)dx
[]
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